

Satoshi Tanaka

Existence of positive solutions for a class of higher order neutral functional differential equations

Czechoslovak Mathematical Journal, Vol. 51 (2001), No. 3, 573–583

Persistent URL: <http://dml.cz/dmlcz/127670>

Terms of use:

© Institute of Mathematics AS CR, 2001

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://dml.cz>

EXISTENCE OF POSITIVE SOLUTIONS FOR A CLASS OF HIGHER ORDER NEUTRAL FUNCTIONAL DIFFERENTIAL EQUATIONS

SATOSHI TANAKA, Matsuyama

(Received August 10, 1998)

Abstract. The higher order neutral functional differential equation

$$(1) \quad \frac{d^n}{dt^n} [x(t) + h(t)x(\tau(t))] + \sigma f(t, x(g(t))) = 0$$

is considered under the following conditions: $n \geq 2$, $\sigma = \pm 1$, $\tau(t)$ is strictly increasing in $t \in [t_0, \infty)$, $\tau(t) < t$ for $t \geq t_0$, $\lim_{t \rightarrow \infty} \tau(t) = \infty$, $\lim_{t \rightarrow \infty} g(t) = \infty$, and $f(t, u)$ is nonnegative on $[t_0, \infty) \times (0, \infty)$ and nondecreasing in $u \in (0, \infty)$. A necessary and sufficient condition is derived for the existence of certain positive solutions of (1).

Keywords: neutral differential equation, positive solution*MSC 2000:* 34K11

1. INTRODUCTION

In this paper we consider the higher order neutral functional differential equation

$$(1) \quad \frac{d^n}{dt^n} [x(t) + h(t)x(\tau(t))] + \sigma f(t, x(g(t))) = 0,$$

where $n \geq 2$ and $\sigma = +1$ or -1 . It is assumed throughout this paper that

- (a) $t_0 > 0$, $\tau: [t_0, \infty) \rightarrow \mathbb{R}$ is continuous and strictly increasing in $t \in [t_0, \infty)$, $\tau(t) < t$ for $t \geq t_0$, and $\lim_{t \rightarrow \infty} \tau(t) = \infty$;
- (b) $h: [\tau(t_0), \infty) \rightarrow \mathbb{R}$ is continuous;
- (c) $g: [t_0, \infty) \rightarrow \mathbb{R}$ is continuous, $g(t) > 0$ for $t \geq t_0$ and $\lim_{t \rightarrow \infty} g(t) = \infty$;

(d) $f: [t_0, \infty) \times (0, \infty) \rightarrow \mathbb{R}$ is continuous, $f(t, u) \geq 0$ for $(t, u) \in [t_0, \infty) \times (0, \infty)$, and $f(t, u)$ is nondecreasing in $u \in (0, \infty)$ for each fixed $t \in [t_0, \infty)$.

By a solution of (1) we mean a function $x(t)$ which is continuous and satisfies (1) on $[t_x, \infty)$ for some $t_x \geq t_0$.

There has been an increasing interest in studying the existence of positive solutions of higher order neutral differential equations. We refer the reader to [1]–[17], [19]–[21]. In particular, the following result is known:

Theorem 0. *Let $k \in \{0, 1, 2, \dots, n - 1\}$. Suppose that one of the following conditions (i)–(iii) holds:*

- (i) $|h(t)|[\tau(t)/t]^k \leq \lambda < 1$ and $h(t)h(\tau(t)) \geq 0$ ([17]);
- (ii) $h(t) \equiv 1$ and $\tau(t) = t - \tau$ ($\tau > 0$) ([11]);
- (iii) $1 < \mu \leq h(t)[\tau(t)/t]^k \leq \lambda < \infty$ ([17]).

Then (1) has a solution $x(t)$ satisfying

$$(2) \quad 0 < \liminf_{t \rightarrow \infty} \frac{x(t)}{t^k} \leq \limsup_{t \rightarrow \infty} \frac{x(t)}{t^k} < \infty$$

if and only if

$$(3) \quad \int_{t_0}^{\infty} t^{n-k-1} f(t, a[g(t)]^k) dt < \infty \quad \text{for some } a > 0.$$

However, very little is known about the existence of a solution $x(t)$ of (1) satisfying (2) in other cases, such as

$$(4) \quad \liminf_{t \rightarrow \infty} h(t) \left[\frac{\tau(t)}{t} \right]^k < 1 < \limsup_{t \rightarrow \infty} h(t) \left[\frac{\tau(t)}{t} \right]^k.$$

The condition (4) seems to be natural and important. Nevertheless, it is not difficult to construct an example illustrating that, while (4) is satisfied, (1) has no solution $x(t)$ with the property (2). Thus we need a condition different from (4).

In this paper we consider the following case:

$$(5) \quad \begin{cases} h(t) \left[\frac{\tau(t)}{t} \right]^k > -1, \\ h(\tau(t)) \left[\frac{\tau(\tau(t))}{\tau(t)} \right]^k = h(t) \left[\frac{\tau(t)}{t} \right]^k, \quad t \geq \tau^{-1}(t_0), \end{cases}$$

where $\tau^{-1}(t)$ is the inverse function of $\tau(t)$ and $k \in \{0, 1, \dots, n - 1\}$. We note here that if (5) holds, then there are constants μ and λ such that

$$(6) \quad -1 < \mu \leq h(t) \left[\frac{\tau(t)}{t} \right]^k \leq \lambda, \quad t \geq t_0.$$

(As a general result it is verified that, under the hypothesis (a) on $\tau(t)$, if a continuous function $\varphi(t)$ on $[t_0, \infty)$ satisfies $\varphi(t) > -1$ and $\varphi(\tau(t)) = \varphi(t)$ for $t \geq \tau^{-1}(t_0)$, then there are constants μ and λ such that $-1 < \mu \leq \varphi(t) \leq \lambda$ for $t \geq t_0$.) In the case of $k \in \{0, 1, 2, \dots, n-1\}$, we easily see that

$$x(t) = \frac{bt^k}{1 + h(t)[\tau(t)/t]^k} \quad (b > 0)$$

satisfies (2) and is a solution of the unperturbed equation

$$\frac{d^n}{dt^n} [x(t) + h(t)x(\tau(t))] = 0,$$

and so it is natural to expect that, if f is small enough in some sense, (1) has a solution $x(t)$ which behaves like the function $bt^k[1 + h(t)[\tau(t)/t]^k]^{-1}$ as $t \rightarrow \infty$. In fact, the following theorem will be proved.

Theorem 1. *Let $k \in \{0, 1, 2, \dots, n-1\}$. Suppose that (5) holds. Then (1) has a solution $x(t)$ satisfying*

$$(7) \quad x(t) = \left[\frac{b}{1 + h(t)[\tau(t)/t]^k} + o(1) \right] t^k \quad \text{as } t \rightarrow \infty \quad \text{for some } b > 0$$

if and only if (3) holds.

In particular, for the case $k = 0$, Theorem 1 gives the following

Corollary 1. *Suppose that*

$$(8) \quad h(t) > -1 \quad \text{and} \quad h(\tau(t)) = h(t), \quad t \geq \tau^{-1}(t_0).$$

Then (1) has a solution $x(t)$ satisfying

$$x(t) = \frac{b}{1 + h(t)} + o(1) \quad \text{as } t \rightarrow \infty \quad \text{for some } b > 0$$

if and only if

$$\int_{t_0}^{\infty} t^{n-1} f(t, a) dt < \infty \quad \text{for some } a > 0.$$

Remark 1. Pairs of functions

$$\begin{aligned} \tau(t) &= t - 2\pi, & h(t) &= 1 + \frac{3}{2} \sin t, \\ \tau(t) &= \gamma t, & h(t) &= 1 + \frac{3}{2} \sin(2\pi[\log \gamma]^{-1} \log t) \quad (0 < \gamma < 1), \\ \tau(t) &= t^{1/e}, & h(t) &= 1 + \frac{3}{2} \sin(2\pi \log(\log t)) \quad (t_0 > 1) \end{aligned}$$

give typical examples satisfying (8).

Now let us consider the special case $\tau(t) = \gamma t$ ($0 < \gamma < 1$):

$$(9) \quad \frac{d^n}{dt^n} [x(t) + h(t)x(\gamma t)] + \sigma f(t, x(g(t))) = 0.$$

Applying Theorem 1 to equation (9), we obtain the following result.

Corollary 2. *Let $k \in \{0, 1, 2, \dots, n-1\}$ and $0 < \gamma < 1$. Suppose that*

$$h(t) > -\gamma^{-k} \quad \text{and} \quad h(\gamma t) = h(t), \quad t \geq \gamma^{-1}t_0.$$

Then (9) has a solution $x(t)$ satisfying

$$x(t) = \left[\frac{b}{1 + \gamma^k h(t)} + o(1) \right] t^k \quad \text{as } t \rightarrow \infty \quad \text{for some } b > 0$$

if and only if (3) holds.

2. PROOF OF THEOREM 1

First we prove the “only if” part of Theorem 1. The following lemma is a more general result.

Lemma 1. *Let $k \in \{0, 1, 2, \dots, n-1\}$. Suppose that $h(t)[\tau(t)/t]^k$ is bounded on $[t_0, \infty)$. If there exists a solution $x(t)$ of (1) which satisfies (2), then (3) holds.*

Proof. Put $y(t) = x(t) + h(t)x(\tau(t))$. We get

$$(10) \quad \frac{y(t)}{t^k} = \frac{x(t)}{t^k} + h(t) \left[\frac{\tau(t)}{t} \right]^k \frac{x(\tau(t))}{[\tau(t)]^k},$$

which implies that $y(t)/t^k$ is bounded. From (1) we have

$$(11) \quad \sigma y^{(n)}(t) = -f(t, x(g(t))) \leq 0 \quad \text{for all large } t.$$

We see that $y^{(i)}(t)$ ($i = 0, 1, 2, \dots, n-1$) are eventually monotonic and that $\lim_{t \rightarrow \infty} y^{(i)}(t)$ ($i = 0, 1, 2, \dots, n-1$) exist in $\mathbb{R} \cup \{-\infty, \infty\}$. Since $y(t)/t^k$ is bounded, we find that $\lim_{t \rightarrow \infty} y^{(k)}(t) = c$ for some $c \in \mathbb{R}$ and $\lim_{t \rightarrow \infty} y^{(i)}(t) = 0$ for $i = k+1, \dots, n-1$. Repeated integration of (11) yields

$$y^{(k)}(t) = c + (-1)^{n-k-1} \sigma \int_t^\infty \frac{(s-t)^{n-k-1}}{(n-k-1)!} f(s, x(g(s))) \, ds$$

for all large t . Consequently, we obtain

$$\int_T^\infty s^{n-k-1} f(s, x(g(s))) \, ds < \infty$$

for some $T \geq t_0$. By virtue of (2) and the monotonicity of f , we conclude that (3) holds. \square

Now we show the “if” part of Theorem 1.

Let $k \in \{0, 1, 2, \dots, n-1\}$. Suppose that (5) holds. Take a sufficiently large number $T \geq \tau(t_0)$ such that

$$h(T)[\tau(T)/T]^k = \max\{h(t)[\tau(t)/t]^k : t \in [t_0, \infty)\}$$

and

$$T_* \equiv \min\{\tau(T), \inf\{g(t) : t \geq T\}\} \geq t_0 (> 0).$$

Let $C[T_*, \infty)$ denote the Fréchet space of all continuous functions on $[T_*, \infty)$ with the topology of uniform convergence on every compact subinterval of $[T_*, \infty)$. Let $\eta \in C[T, \infty)$ with $\eta(t) \geq 0$ for $t \geq T$ and $\lim_{t \rightarrow \infty} \eta(t) = 0$. We consider the set Y of all functions $y \in C[T_*, \infty)$ which are nonincreasing on $[T, \infty)$ and satisfy

$$y(t) = y(T) \quad \text{for } t \in [T_*, T], \quad 0 \leq y(t) \leq \eta(t) \quad \text{for } t \geq T.$$

It is easy to see that Y is a closed convex subset of $C[T_*, \infty)$.

The next result follows from the Proposition in [18].

Lemma 2. *Suppose that (2) holds. Let $\eta \in C[T, \infty)$ with $\eta(t) \geq 0$ for $t \geq T$ and $\lim_{t \rightarrow \infty} \eta(t) = 0$. For this η , define Y as above. Then there exists a mapping $\Phi: Y \rightarrow C[T_*, \infty)$ which has the following properties:*

(a) *For each $y \in Y$, $\Phi[y]$ satisfies*

$$\lim_{t \rightarrow \infty} \Phi[y](t) = 0$$

and

$$\Phi[y](t) + h(t) \left[\frac{\tau(t)}{t} \right]^k \Phi[y](\tau(t)) = y(t), \quad t \geq T;$$

(b) *Φ is continuous on Y in the $C[T_*, \infty)$ -topology, i.e., if $\{y_j\}_{j=1}^\infty$ is a sequence in Y converging to $y \in Y$ uniformly on every compact subinterval of $[T_*, \infty)$, then $\Phi[y_j]$ converges to $\Phi[y]$ uniformly on every compact subinterval of $[T_*, \infty)$.*

We first prove the “if” part of Theorem 1 for the case $k = 0$.

Proof of the “if” part ($k = 0$). Put

$$\eta(t) = \int_t^\infty \frac{(s-t)^{n-1}}{(n-1)!} f(s, a) ds, \quad t \geq T.$$

We use Lemma 2 for this η . In view of (6), we can take constants $b > 0$, $\delta > 0$ and $\varepsilon > 0$ such that

$$0 < \delta + \varepsilon \leq \frac{b}{1+h(t)} \leq a - \varepsilon, \quad t \geq T_*.$$

We denote the function $\Psi[y](t)$ by

$$\Psi[y](t) = \frac{b}{1+h(t)} + (-1)^{n-1} \sigma \Phi[y](t), \quad t \geq T_*, \quad y \in Y.$$

Define a mapping $\mathcal{F}: Y \rightarrow C[T_*, \infty)$ as follows:

$$(\mathcal{F}y)(t) = \begin{cases} \int_t^\infty \frac{(s-t)^{n-1}}{(n-1)!} f_0(s, \Psi[y](g(s))) ds, & t \geq T, \\ (\mathcal{F}y)(T), & t \in [T_*, T], \end{cases}$$

where

$$f_0(t, u) = \begin{cases} f(t, a), & u \geq a, \\ f(t, u), & \delta \leq u \leq a, \\ f(t, \delta), & u \leq \delta. \end{cases}$$

It is easy to see that \mathcal{F} maps Y into itself.

From Lemma 2 it follows that the mapping Ψ is continuous on Y , and the Lebesgue dominated convergence theorem shows that \mathcal{F} is continuous on Y .

Since

$$|(\mathcal{F}y)'(t)| \leq \int_T^\infty s^{n-2} f(s, a) ds, \quad t \geq T, \quad y \in Y,$$

the mean value theorem implies that $\mathcal{F}(Y)$ is equicontinuous on $[T, \infty)$. Since $|(\mathcal{F}y)(t_1) - (\mathcal{F}y)(t_2)| = 0$ for $t_1, t_2 \in [T_*, T]$, we conclude that $\mathcal{F}(Y)$ is equicontinuous on $[T_*, \infty)$. Obviously, $\mathcal{F}(Y)$ is uniformly bounded on $[T_*, \infty)$. Hence, by the Ascoli-Arzelà theorem, $\mathcal{F}(Y)$ is relatively compact.

Consequently, we are able to apply the Schauder-Tychonoff fixed point theorem to the operator \mathcal{F} and conclude that there exists an element $\tilde{y} \in Y$ such that $\tilde{y} = \mathcal{F}\tilde{y}$. Set $x(t) = \Psi[\tilde{y}](t)$. Lemma 2 implies that $x(t)$ satisfies (7) with $k = 0$ and hence there exists a number $\tilde{T} \geq T$ such that $\delta \leq x(g(t)) \leq a$ for $t \geq \tilde{T}$. Then we have

$f_0(t, x(g(t))) = f(t, x(g(t)))$ for $t \geq \tilde{T}$. Using Lemma 2 and (5), we observe that

$$\begin{aligned}
 (12) \quad & x(t) + h(t)x(\tau(t)) \\
 &= \frac{b}{1+h(t)} + \frac{bh(t)}{1+h(\tau(t))} + (-1)^{n-1}\sigma[\Phi[\tilde{y}](t) + h(t)\Phi[\tilde{y}](\tau(t))] \\
 &= b + (-1)^{n-1}\sigma\tilde{y}(t) \\
 &= b + (-1)^{n-1}\sigma \int_t^\infty \frac{(s-t)^{n-1}}{(n-1)!} f(s, x(g(s))) ds, \quad t \geq \tilde{T}.
 \end{aligned}$$

By differentiation of (12), we see that $x(t)$ is a solution of (1). The proof is complete. \square

The following lemma will be used in the proof of the “if” part of Theorem 1 for the case $k \neq 0$.

Lemma 3. *Let $\ell \in \mathbb{N}$ and let $T > 0$. Suppose that $u \in C[T, \infty)$ is nonnegative and nonincreasing on $[T, \infty)$ and c is a number such that $c \geq u(T)T[(\ell - 1)!]^{-1}$. Then the function*

$$U(t) = ct^{-1} + t^{-\ell} \int_T^t \frac{(t-s)^{\ell-1}}{(\ell-1)!} u(s) ds$$

satisfies $-2cT^{-2} \leq U'(t) \leq 0$ for $t \geq T$.

P r o o f. We note that

$$\begin{aligned}
 (13) \quad & -c(\ell-1)! - \int_T^t u(s) ds + tu(t) \leq -c(\ell-1)! - u(t)(t-T) + tu(t) \\
 & = u(t)T - c(\ell-1)! \leq 0, \quad t \geq T.
 \end{aligned}$$

If $\ell = 1$, then we find by (13) that

$$\begin{aligned}
 U'(t) &= -ct^{-2} - t^{-2} \int_T^t u(s) ds + t^{-1}u(t) \\
 &= t^{-2} \left[-c - \int_T^t u(s) ds + tu(t) \right] \leq 0, \quad t \geq T
 \end{aligned}$$

and

$$\begin{aligned}
 U'(t) &\geq -ct^{-2} - t^{-2} \int_T^t u(s) ds \geq -cT^{-2} - t^{-2}u(T)(t-T) \\
 &\geq -cT^{-2} - t^{-2}cT^{-1}t \geq -2cT^{-2}, \quad t \geq T.
 \end{aligned}$$

Now we assume that $\ell \geq 2$. We see that

$$\begin{aligned} U'(t) &= -ct^{-2} - \ell t^{-\ell-1} \int_T^t \frac{(t-s)^{\ell-1}}{(\ell-1)!} u(s) ds + t^{-\ell} \int_T^t \frac{(t-s)^{\ell-2}}{(\ell-2)!} u(s) ds \\ &= t^{-\ell-1} \left[-ct^{\ell-1} - \ell \int_T^t \frac{(t-s)^{\ell-1}}{(\ell-1)!} u(s) ds + t \int_T^t \frac{(t-s)^{\ell-2}}{(\ell-2)!} u(s) ds \right] \\ &\equiv t^{-\ell-1} V(t), \quad t \geq T. \end{aligned}$$

Since

$$\begin{aligned} \int_T^t \frac{(t-s)^{\ell-1}}{(\ell-1)!} u(s) ds &\leq u(T) \int_T^t \frac{(t-s)^{\ell-1}}{(\ell-1)!} ds \\ &= u(T) \frac{(t-T)^\ell}{\ell!} \leq cT^{-1} \ell^{-1} t^\ell, \quad t \geq T, \end{aligned}$$

we obtain

$$U'(t) \geq -ct^{-2} - cT^{-1}t^{-1} \geq -2cT^{-2}, \quad t \geq T.$$

We claim that $V(t) \leq 0$ for $t \geq T$. In view of the equality

$$-\ell(t-s) + (\ell-1)t = (\ell-1)s - (t-s),$$

we can rewrite $V(t)$ as

$$\begin{aligned} V(t) &= -ct^{\ell-1} + \int_T^t \frac{(t-s)^{\ell-2}}{(\ell-1)!} u(s) [-\ell(t-s) + (\ell-1)t] ds \\ &= -ct^{\ell-1} + \int_T^t \frac{(t-s)^{\ell-2}}{(\ell-2)!} su(s) ds - \int_T^t \frac{(t-s)^{\ell-1}}{(\ell-1)!} u(s) ds. \end{aligned}$$

Then we find that

$$\begin{aligned} V^{(i)}(t) &= -c \frac{(\ell-1)!}{(\ell-1-i)!} t^{\ell-1-i} + \int_T^t \frac{(t-s)^{\ell-2-i}}{(\ell-2-i)!} su(s) ds \\ &\quad - \int_T^t \frac{(t-s)^{\ell-1-i}}{(\ell-1-i)!} u(s) ds, \quad t \geq T, \quad 0 \leq i \leq \ell-2 \end{aligned}$$

and

$$V^{(\ell-1)}(t) = -c(\ell-1)! + tu(t) - \int_T^t u(s) ds, \quad t \geq T.$$

From (13) it follows that $V^{(\ell-1)}(t) \leq 0$ for $t \geq T$ and hence

$$V^{(\ell-2)}(t) \leq V^{(\ell-2)}(T) = -c(\ell-1)!T \leq 0, \quad t \geq T.$$

In exactly the same way, we conclude that

$$V^{(i)}(t) \leq 0, \quad t \geq T, \quad 0 \leq i \leq \ell - 2.$$

Consequently, $V(t) \leq 0$ for $t \geq T$ as claimed. This shows that $U'(t) \leq 0$ for $t \geq T$. The proof is complete. \square

We now show the “if” part of Theorem 1 for the case $k \neq 0$.

Proof of the “if” part ($k \neq 0$). Put

$$\varphi(t) = \int_t^\infty \frac{(s-t)^{n-k-1}}{(n-k-1)!} f(s, a[g(s)]^k) ds, \quad c = \frac{\varphi(T)T}{(k-1)!}$$

and

$$\eta(t) = ct^{-1} + t^{-k} \int_T^t \frac{(t-s)^{k-1}}{(k-1)!} \varphi(s) ds.$$

Then $\eta(t) \geq 0$ for $t \geq T$ and $\lim_{t \rightarrow \infty} \eta(t) = 0$, and we use Lemma 2 for this η . By using (6), there are constants $b > 0$, $\delta > 0$ and $\varepsilon > 0$ such that

$$0 < \delta + \varepsilon \leq \frac{b}{1 + h(t)[\tau(t)/t]^k} \leq a - \varepsilon, \quad t \geq T_*.$$

We introduce the function $\Psi[y](t)$ by

$$\Psi[y](t) = t^k \left[\frac{b}{1 + h(t)[\tau(t)/t]^k} + (-1)^{n-k-1} \sigma \Phi[y](t) \right], \quad t \geq T_*, \quad y \in Y,$$

and define the mapping $\mathcal{F}: Y \rightarrow C[T_*, \infty)$ as follows:

$$(\mathcal{F}y)(t) = \begin{cases} ct^{-1} + t^{-k} \int_T^t \frac{(t-s)^{k-1}}{(k-1)!} \\ \quad \times \int_s^\infty \frac{(r-s)^{n-k-1}}{(n-k-1)!} f_k(r, \Psi[y](g(r))) dr ds, & t \geq T, \\ (\mathcal{F}y)(T), & t \in [T_*, T], \end{cases}$$

where

$$f_k(t, u) = \begin{cases} f(t, a[g(t)]^k), & u \geq a[g(t)]^k, \\ f(t, u), & \delta[g(t)]^k \leq u \leq a[g(t)]^k, \\ f(t, \delta[g(t)]^k), & u \leq \delta[g(t)]^k. \end{cases}$$

Lemma 3 implies that

$$-2cT^{-2} \leq (\mathcal{F}y)'(t) \leq 0, \quad t \geq T, \quad y \in Y.$$

Then $(\mathcal{F}y)(t)$ is nonincreasing on $[T, \infty)$ and hence \mathcal{F} maps Y into itself. In a fashion similar to the case $k = 0$, we see that \mathcal{F} is continuous on Y and $\mathcal{F}(Y)$ is relatively compact. Then the Schauder-Tychonoff fixed point theorem shows that $\tilde{y} = \mathcal{F}\tilde{y}$ for some $\tilde{y} \in Y$. We set $x(t) = \Psi[\tilde{y}](t)$. Since $\lim_{t \rightarrow \infty} \Phi[\tilde{y}](t) = 0$, we find that $x(t)$ satisfies (7) and $\delta[g(t)]^k \leq x(g(t)) \leq a[g(t)]^k$ for $t \geq \tilde{T}$, where $\tilde{T} \geq T$ is sufficiently large, so that $f_k(t, x(g(t))) = f(t, x(g(t)))$ for $t \geq \tilde{T}$. In view of (5) and Lemma 2, we find that

$$\begin{aligned} & x(t) + h(t)x(\tau(t)) \\ &= \frac{b}{1 + h(t)[\tau(t)/t]^k} t^k + \frac{bh(t)}{1 + h(\tau(t))[\tau(\tau(t))/\tau(t)]^k} \left[\frac{\tau(t)}{t} \right]^k t^k \\ &\quad + (-1)^{n-k-1} \sigma [\Phi[\tilde{y}](t) + h(t)[\tau(t)/t]^k \Phi[\tilde{y}](\tau(t))] t^k \\ &= b t^k + (-1)^{n-k-1} \sigma \tilde{y}(t) t^k \\ &= b t^k + (-1)^{n-k-1} \sigma c t^{k-1} \\ &\quad + (-1)^{n-k-1} \sigma \int_T^t \frac{(t-s)^{k-1}}{(k-1)!} \int_s^\infty \frac{(r-s)^{n-k-1}}{(n-k-1)!} f_k(r, x(g(r))) \, dr \, ds \end{aligned}$$

for $t \geq \tilde{T}$. Differentiation of the above equality implies that

$$\frac{d^n}{dt^n} [x(t) + h(t)x(\tau(t))] = -\sigma f_k(t, x(g(t))) = -\sigma f(t, x(g(t))), \quad t \geq \tilde{T}.$$

Consequently, $x(t)$ is a solution of (1). This completes the proof. \square

Acknowledgement.

The author would like to thank Professor Manabu Naito for many helpful suggestions.

References

- [1] *S. J. Bilchev, M. K. Grammatikopoulos and I. P. Stavroulakis*: Oscillations of higher order neutral differential equations. *J. Austral. Math. Soc. Ser. A* 52 (1992), 261–284.
- [2] *Y. Chen*: Existence of nonoscillatory solutions of n th order neutral delay differential equations. *Funkcial. Ekvac.* 35 (1992), 557–570.
- [3] *L. H. Erbe and J. S. Yu*: Linearized oscillations for neutral equations I: Odd order. *Hiroshima Math. J.* 26 (1996), 557–572.
- [4] *L. H. Erbe and J. S. Yu*: Linearized oscillations for neutral equations II: Even order. *Hiroshima Math. J.* 26 (1996), 573–585.
- [5] *K. Gopalsamy*: Oscillation and nonoscillation in neutral differential equations with variable parameters. *J. Math. Phys. Sci.* 21 (1987), 593–611.
- [6] *K. Gopalsamy, B. S. Lalli and B. G. Zhang*: Oscillation of odd order neutral differential equations. *Czechoslovak Math. J.* 42 (1992), 313–323.

- [7] *J. Jaroš and T. Kusano*: Oscillation theory of higher order linear functional differential equations of neutral type. *Hiroshima Math. J.* *18* (1988), 509–531.
- [8] *J. Jaroš and T. Kusano*: Asymptotic behavior of nonoscillatory solutions of nonlinear functional differential equations of neutral type. *Funkcial. Ekvac.* *32* (1989), 251–263.
- [9] *Y. Kitamura and T. Kusano*: Existence theorems for a neutral functional differential equation whose leading part contains a difference operator of higher degree. *Hiroshima Math. J.* *25* (1995), 53–82.
- [10] *W. D. Lu*: Existence and asymptotic behavior of nonoscillatory solutions to nonlinear second-order equations of neutral type. *Acta Math. Sinica* *36* (1993), 476–484. (In Chinese.)
- [11] *M. Naito*: An asymptotic theorem for a class of nonlinear neutral differential equations. *Czechoslovak Math. J* *48(123)* (1998), 419–432.
- [12] *Y. Naito*: Nonoscillatory solutions of neutral differential equations. *Hiroshima Math. J.* *20* (1990), 231–258.
- [13] *Y. Naito*: Asymptotic behavior of decaying nonoscillatory solutions of neutral differential equations. *Funkcial. Ekvac.* *35* (1992), 95–110.
- [14] *Y. Naito*: Existence and asymptotic behavior of positive solutions of neutral differential equations. *J. Math. Anal. Appl.* *188* (1994), 227–244.
- [15] *Y. Naito*: A note on the existence of nonoscillatory solutions of neutral differential equations. *Hiroshima Math. J.* *25* (1995), 513–518.
- [16] *J. Ruan*: Type and criteria of nonoscillatory solutions for second order linear neutral differential equations. *Chinese Ann. Math. Ser. A* *8* (1987), 114–124. (In Chinese.)
- [17] *S. Tanaka*: Existence and asymptotic behavior of solutions of nonlinear neutral differential equations. In preparation.
- [18] *S. Tanaka*: Existence of positive solutions for a class of first-order neutral functional differential equations. *J. Math. Anal. Appl.* *229* (1999), 501–518.
- [19] *X. H. Tang and J. H. Shen*: Oscillation and existence of positive solutions in a class of higher order neutral equations. *J. Math. Anal. Appl.* *213* (1997), 662–680.
- [20] *B. G. Zhang and J. S. Yu*: On the existence of asymptotically decaying positive solutions of second order neutral differential equations. *J. Math. Anal. Appl.* *166* (1992), 1–11.
- [21] *B. G. Zhang, J. S. Yu and Z. C. Wang*: Oscillations of higher order neutral differential equations. *Rocky Mountain J. Math.* *25* (1995), 557–568.

Author's address: Graduate School of Science and Engineering, Doctor Course, Ehime University, Matsuyama 790-8577, Japan; Present address of the author: Department of Liberal Arts and Engineering Science, Hachinohe National College of Technology, Hachinohe 039-1192, Japan, e-mail: tanaka-g@hachinohe-ct.ac.jp.